(1

(As)

RC-40

Vi
V2

V3

e

e

Vi (

ve (

e

X

X

0.04 x 7903
0.61 x 7903
(2)

0.8 x 1300
(¢ 25)0
1.50 x 1.55
A
1.31 x 1.36
B
0.10 x 3408
Nel Ne2 +1 4.
(2)

0.31 x 1300
(¢ 25)0
(2)
0.92 x 1300
(¢ 25)0
1.50 x 1.5 -
X 05
A
1.31 x 1.3 -
X 05
B
)
2066 2 .40

/

8

0

0

.05

.05

0 .55 x

0.36 x

09.

312
s 312
129
s 129
6 .42
0.18
0.29
5 7.79
0.53
s 0.53
1.9
s 1.9
3.77
s 3.77

0 .55)
0 .66

0.36)
0.27
s 1.83
129
7.79
5 206
0.53
1.9
s 2 .40

) | 09

189

(92}

(93]

(92}

(92}

3 17

127.

80

04

17

38

14

2 07.

20

1 84.




(2

( As

\E= 3127
\E= 3127
(¢ 250
(RG 40)

220

150

286

150

600

312

312

312

312

0.4

0.1

(RG 40)

0.2

3 17.

3 17.




A ®28 )

, 45

B
4 0x04 0 0 C

L

IN=

1300

130

1 30.

10

10




10m

A ©28

)

. 000

00

10.

0 (




10
, 405
650
40 L 450 L 40
I
: I ~ 1 (18-8-25BB)
8
. o3 £s
(RG 40)
50 450 50
550
650
= 1.008 10.000 = 10.000 10. 0
( L 450 =110kg/ )
= 1.008 10.000 = 10.000 10. 0
(T-14, 450 )
=0.65%00.650 0. 100 10.000-= 0.423° 0.42
(18-8-25BB)
=0.65%00.10:0 4.000 10.000-= 2.600°7 2.60
=0.65%0 0.650 10.000 = 4. 225? 4. 23
(RC-40,)t=10
=0.65%00.650 10.000 = 4. 225? 4. 23
N= 4.008 3.008® 10.000 = 120.000 120.0
( 10 30 )
( 30 200 )
1=( 0. 550 3.006€ 1.0% 2. 0040
1.5%x 0.5002.0002.000 = 2.650
2=( 0.50:0 2.00#€0 0.5% 3.00%®
1.0% 2.00#6 1.55x 0.500 = 3.150
1 2
(2.65490 3.150x 10.000 = 58.000 58. 0




4 0 X 4 040 10
630
400
Q| wn
5|8
(18-8-2589)
8%70 IR
g - Lo (18-8- 2588
S e, £
(RG 40)
630
730
PU = 008 10. 000 = 10. 00 10. 0¢(
(400x400C =358kg/ )
= 008 10. 000 = 10. 00 10. 0¢(
( T- 2 5x 44000
= 0.050 0. 40x0 0. 400 10. 0O06®O 0. 8 03 0. 08
(18-8-25BB)
=0.73*0 0. 730 0. 10x0O 10. 000-= 0. 3 33 0.53
(18-8-25BB)
=0.730 0. 10x0 4. 00O 10. 000-= 2. 2 02 2.92
=0.73*0 0. 730 10. 000 = 5. 2 92 5.33
(RC-40,)t=10
=0.73*0 0. 730 10. 000 = 5. 2 92 5.33
N = 008 3.008 10. 000 = 120.000 120. 0
( 10 30 )
( 30 200 )
1=( 0.630 3.00#% 1.1% 2. 00®
.63 x 0.5002.0002.000 = 2. 90
2=( 0.500 2. 0049 0.6% 3. 00®
. 1% 2.00€ 1.6)3x 0.500 = 3. 90
1 2
(1 2.89#9 3. 39P0x 10.000 = 62 00 6 2. 8




(t=%cn

(M-30, )

A= 4 .00 x

A=1 08 In70. 2

7903

3170

3170

3170

3170

2

2

312

312




	数量計算書①
	1/2
	2/2

	数量計算書②
	1/2
	2/2

	数量計算書③
	1/2
	2/2

	数量計算書④

